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Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate marks of question. oNfEE AT SE TN LeAd T gl Fed 1
Candidates should answer in their own words AT AT ©II T2l TET HAANG T
and adhere to the word limit as practicable. Beq frre 291

1. Answer any six questions from the following: 2x6=12

e @-@IEl 27 2eR Tes wiee

(a) What is the shape of the demand curve for normal good?
YR TR CFLG HIfRA @R WG (@5 27 9

(b) What is income elasticity of demand?
BIEGER I CEEISGR R (R (G

(c) What is indifference map?
foRtors wiiba FIE = 9

(d) State the law of supply.
CRIMTR T340 el

(¢) What do you mean by long run in the production theory?
Teolmn ©Tg RINTel 0o & Q@I 2

(f) State the condition when Average Revenue (AR) is equal to Marginal Revenue
(MR).
(@I S 5 O (AR), €S SiAF (MR) FL A0 T G

(g) What is price discrimination?
W 2B P T 9

(h) What is transfer income?
FAES S PICE 0T 2

(i) What is return to scale?
Wi afent PEF e ?

(j) What do you mean by quasi-rent?
A-YISl FICE AT 2

(k) Write two characteristics of Monopoly Market.
e IrercEs uib tafiEy e

(I) What is opportunity cost? -
HEA Y BICF A 2
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Answer any fwo questions from the following:
e - §fe v Teq wie:

(a) Explain the law of diminishing marginal utility.
TP oS Soraier faf apm st

(b) Why demand curve is a downward sloping curve?
HRWIEAR i s = @

(¢) Why does a monopoly firm produce in the elastic part of the demand curve?
T BB FIARN @ i sifErIaA FEfeReT TR Sest T ?

(d) What is profit? Distinguish between profit and other factor incomes.
AR F 9 YRR A A1 SARTAL T AL T

Answer any three questions from the following:
fFefiRe Q- b elvsm T wies

(a) What do you mean by income effect and substitution effect? Show that price effect
1s a sum of substitution effect and income effect of price change.
wa—ﬁeﬁﬁa—wwﬁsm?m@mmmmﬁﬁ#mem
ASWIA (W ARISR S &) @srwe|

(b) Why is the short-run average cost curve of a firm u-shaped?
9T FICR THFEAN T IR u-SIFRET T & 9

(c) What are the features of a perfectly competitive market? Discuss the long-run
equilibrium of a competitive firm.

o eferionEe AeEs @RgeR & & 9 vidﬁﬁmﬂ%ﬂwww
oy el fAdifte = sicena st

(d) What do you mean by an isoquant and isocost line? Discuss the propertles of an
isoquant. What is expansion path in the production theory?
AT 8 FRIY @R IF I 9 T @IR ool e s Seste
O(g FEAR A B 0 ?

(e) What is total variable cost? How do you derive average variable cost (AVC) curve
and marginal cost (MC) curve from the total variable cost curve?

% ARRETN A7 & 2 (6 ARRSTN 7 @A QAT FOR 76 AT 7
(AVC) ¢ &if$s 7 (MC) @1 2167 TF O (M8 |

(f) Explain the modern theory of Rent. In this connection analyse the relationship
between rent and transfer earning.
el TS Sy ogld P F@H @ AN AT AH ST WS T0ED
(=1ean

5360 2

4x2 =3

10x3 =30

4+6

3+7

4+4+2

2+8

8§+2





{ "type": "Document", "isBackSide": false }


{ "type": "Form", "isBackSide": false }

